DIMENS TONAL DRAWING: 4363L

= s Y =, |:>
4\ THIS END UP - LANDSCAPE | =
5 @
1] 1] %
- o - I | - . . SETALL A 5
b ¥ e ev e 77 o o 7% o of °o o cfF L SCALE  0.750 T
=
(@)
20U
.:ﬂ
U
=
— 999 3 TOUCHSCREEN - VESA MOUNT a
42 .7 —= = = 400 - M6 THREADS, X4 _—
_ _ DETAIL B
OPTIONAL SEALING FOAM 2.5MM THICK 664
L IGHT SENSOR CCUSTOMER INSTALLED. AL AROUND] . ///ﬁA\\\\%{/~SEE DETAIL A SCALE 0.750
5 A :gﬁh A i ® \\Q@THus END UP - LANDSCAPE ® @ e/ : AU _‘i\
| ; 3 f%ﬂ:' . .
t - 5 5 = §§{ pusnon 0
ai= 47 e Y o ([hr I
— 943 2 ACTIVE AREA [l 50 .
§ O O
» T — —SEE DETAIL B
583 .5 -
(SIDE MOUNTING) ® o ~
w: © Z
Al f N\ | | Vo M E 400
531.3 ACTIVE ARLA 587.5 JIE| 275 i : . s I
TOUCHSCREEN : 5 g | 7
i @r NE] i © ;
HEm Y < 2 vea 080  USB E
©
o il m m i
50 5
= ol i [
% A f
E :
V \‘ — s 7 o 5 5 O3l : TN TEASTOROO O]
v v —= ) ® | ® ) =
‘ SIDE MOUNT
, LEFT AND RIGHT
Io Aoh-e® ©. P .o
= ot (i . M4 THREADS, X4
[
—=1 50 50
—SIDE MOUNT
TOP AND BOTTOM HDM | IN |
— 995.3 (SIDE MOUNTING) = M4 THREADS, X4
U REMOTE OSD
AL POWER TN oA TOUCH USB OUT
SEALING FOAM INSTALLATION (OPTIONAL FOR VESA OR SIDE MOUNTING):
| PEEL BACK 2-3" OF RELEASE LINER FROM FOAM SEAL | ‘ L o o /o o o o ofe o 7 o 0,6 o o o o
2. ALIGN EXPOSED END OF FOAM SEAL WITH BLACK MYLAR ON TOUCH DISPLAY , —_— 6 0 0 0 o 0 0 0 o
3. GENTLY PEEL BACK ADDITIONAL RELEASE LINER AS TAPE IS PRESSED INTO PLACE. O | &5 O )EFL} M) 6%6°6%6%0%0°6%6 0
4. FOAM SEAL SHOULD NOT EXTEND OFF OFF THE EDGE OF BLACK MYLAR - = ©c 0 0 00,000 o
ALIGN SEAL WITH EDGE OF BLACK MYLAR (] @%ﬁﬁwuigﬂ////////)
(DO NOT OVERLAP SEAL ONTO TOUCH SCREEN GLASS) _ L)
SEALING FOAM INSTALLED
—BLACK MYLAR
SCALE 1.000
)
SCALE 1,000 n
SCALE 1.000
MS602864
DIMENSIONS ARE IN MILLIMETERS DATE:01/07/202]
REV: A




DIMENS TONAL DRAWING:  4363L

FLUSH MOUNTING A 11

INCLUDED WITH 4363L, CUSTOMER ASSEMBLED

REPLACEMENT BRACKE T AND SEALING FOAM ATT P/N £848336 AVAILABLE SEPARATELY

< 10344 -
= 126.8 -
— = 65
M4 THREADS, X2——o] F%o@
1.5, X2
O ? e o) I CrE—)
7 f T j/{ El@w @ , @
j /\@@ 2] %
r .
] B s L@C> 7 —
% ( ’ . [&%H{:} ® ©
2 \ ©)
410 622.6 3l i : :
( E— |
: ——— - ® K
° ° gg@)d ,
5 I 2@7?
i
-
ve 5% s >o) V |
INSTALLATION NOTES:
| INSTALL SEALING FOAM AROUND EDGE OF TOUCH DISPLAY PER INSTRUCTIONS ON PAGE I.
2. ATTACH BRACKET "A" TO TOUCHMONITOR, & PIECES
3. ATTACH BRACKET "C" TO CUSTOMER PANEL PER CUT-OUT DRAWING, 8 PIECES
4. ATTACH BRACKET "B" TO BRACKET "C" WITH INCLUDED M4 HEX HEAD SCREWS, 8 PIECES
5. ADJUST DEPTH OF BRACKET "B" SO TOUCHMONITOR WILL BE FLUSH WITH CUSTOMER PANEL
6. PLACE TOUCHMONITOR INTO OPENING FROM FRONT
7. SECURE TOUCHMONITOR TO BRACKET "B" FROM BEHIND WITH M4 HEX HEAD SCREWS (INCLUDED)
= 556.8 e85 A"
- =— 65 "B’ SRACKET "B
— = 10 BRACKET "C'
I e Ty SEE DETAIL
1 RECOMMENDED CUSTOMER PANEL CUT-OUT 1
+ CHOOSE ONE: +
+ "A" = M4 THREADED HOLES OR M4 CONCEALED + i EE DETATL A
508. 6 HEAD THREADED STUDS WITH NUTS BRACKET "A"—
"B" = CLEARANCE HOLES FOR M4 MACHINE SCREWS
£0.5
589.5 45 240
+ + Il
_ +0.5 .
I 001,325 =
+ + A M
Z‘L 85 HAH
v ++ ++ ++ ++ v o ‘O 65 HBH
DETAIL B
SCALE 0,400

DIMENS TONS ARE N MILLIMETERS

CUSTOMER PANEL
MIN THICANESS
MAX THICANESS

(NOT

INCLUDED)

oMM
2 oM

MS602864

DATE :

07/07/202]

REV: A




	Sheet 1
	Views
	new_view_1
	right_2
	right_3
	bottom_4
	top_5
	bottom_13
	new_view_21
	right_22
	A
	B


	Sheet 2
	Views
	new_view_7
	new_view_8
	new_view_9
	new_view_12
	new_view_15
	A
	B
	new_view_20



